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p0        0.0±  3928 

p1        0.000198± -0.003421 

TVC (Mean) vs TP delay (c,b,ch)=(4,1,14)

TP delay [ns]
0 20 40 60 80 100

3929

TVC (Mean) vs TP delay (c,b,ch)=(4,1,15) / ndf 
2χ  838.9 / 25

p0        0.0±  3929 

p1        0.000197± -0.003863 

TVC (Mean) vs TP delay (c,b,ch)=(4,1,15)



TP delay [ns]
0 20 40 60 80 100

3907

TVC (Mean) vs TP delay (c,b,ch)=(4,2,0) / ndf 
2χ  714.7 / 25

p0        0.0±  3907 

p1        0.000191± -0.002319 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,1)
 / ndf 2χ  769.9 / 25

p0        0.0±  3908 

p1        0.000195± -0.002185 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,1)

TP delay [ns]
0 20 40 60 80 100

3904

TVC (Mean) vs TP delay (c,b,ch)=(4,2,2) / ndf 
2χ  748.7 / 25

p0        0.0±  3904 

p1        0.000182± -0.002183 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,3) / ndf 
2χ  851.8 / 25

p0        0.0±  3908 

p1        0.00019± -0.00266 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,4) / ndf 
2χ  652.9 / 25

p0        0.0±  3915 

p1        0.000189± -0.003442 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,5) / ndf 
2χ  636.4 / 25

p0        0.0±  3910 

p1        0.000171± -0.003106 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,5)

TP delay [ns]
0 20 40 60 80 100

3909

TVC (Mean) vs TP delay (c,b,ch)=(4,2,6) / ndf 
2χ  615.3 / 25

p0        0.0±  3909 

p1        0.000162± -0.002746 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,6)

TP delay [ns]
0 20 40 60 80 100

3905

3906

3907

3908

3909

3910

3911

3912

TVC (Mean) vs TP delay (c,b,ch)=(4,2,7) / ndf 
2χ    823 / 25

p0        0.0±  3912 

p1        0.000178± -0.003391 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,7)

TP delay [ns]
0 20 40 60 80 100

3904

TVC (Mean) vs TP delay (c,b,ch)=(4,2,8) / ndf 
2χ  597.9 / 25

p0        0.0±  3904 

p1        0.000200± -0.002583 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,8)

TP delay [ns]
0 20 40 60 80 100

3911

TVC (Mean) vs TP delay (c,b,ch)=(4,2,9) / ndf 
2χ  697.4 / 25

p0        0.0±  3911 

p1        0.000175± -0.002115 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,10) / ndf 
2χ  716.8 / 25

p0        0.0±  3911 

p1        0.000185± -0.002571 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,10)

TP delay [ns]
0 20 40 60 80 100

3912

3913

3914

3915

TVC (Mean) vs TP delay (c,b,ch)=(4,2,11) / ndf 
2χ  819.3 / 25

p0        0.0±  3915 

p1        0.000170± -0.003076 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,12)
 / ndf 2χ  761.2 / 25

p0        0.0±  3895 

p1        0.000175± -0.001964 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,12)

TP delay [ns]
0 20 40 60 80 100

3889

3890

3891

3892

3893

3894

TVC (Mean) vs TP delay (c,b,ch)=(4,2,13) / ndf 
2χ  878.5 / 25

p0        0.0±  3894 

p1        0.000174± -0.002078 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,2,14)
 / ndf 2χ  989.2 / 25

p0        0.0±  3899 

p1        0.000173± -0.002185 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,14)

TP delay [ns]
0 20 40 60 80 100

3890

3891

3892

3893

3894

3895

3896

3897

TVC (Mean) vs TP delay (c,b,ch)=(4,2,15)
 / ndf 2χ  834.7 / 25

p0        0.0±  3897 

p1        0.000178± -0.001924 

TVC (Mean) vs TP delay (c,b,ch)=(4,2,15)



TP delay [ns]
0 20 40 60 80 100

3920

TVC (Mean) vs TP delay (c,b,ch)=(4,3,0) / ndf 
2χ  611.7 / 25

p0        0.0±  3920 

p1        0.000193± -0.002599 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,1)
 / ndf 2χ  477.1 / 25

p0        0.0±  3912 

p1        0.000189± -0.002285 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,1)

TP delay [ns]
0 20 40 60 80 100

3914

TVC (Mean) vs TP delay (c,b,ch)=(4,3,2)
 / ndf 2χ  499.9 / 25

p0        0.0±  3914 

p1        0.000199± -0.002225 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,3)
 / ndf 2χ  557.9 / 25

p0        0.0±  3915 

p1        0.000186± -0.001845 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,4) / ndf 
2χ  561.9 / 25

p0        0.0±  3910 

p1        0.000190± -0.002666 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,4)

TP delay [ns]
0 20 40 60 80 100

3898

3899

3900

3901

3902

3903

3904

TVC (Mean) vs TP delay (c,b,ch)=(4,3,5) / ndf 
2χ  618.9 / 25

p0        0.0±  3904 

p1        0.00019± -0.00269 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,5)

TP delay [ns]
0 20 40 60 80 100

3930

TVC (Mean) vs TP delay (c,b,ch)=(4,3,6) / ndf 
2χ  601.1 / 25

p0        0.0±  3930 

p1        0.000188± -0.002012 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,6)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,7) / ndf 
2χ  616.6 / 25

p0        0.0±  3919 

p1        0.000175± -0.002497 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,7)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,8) / ndf 
2χ  480.1 / 25

p0        0.0±  3923 

p1        0.000199± -0.002288 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,8)

TP delay [ns]
0 20 40 60 80 100

3916

TVC (Mean) vs TP delay (c,b,ch)=(4,3,9) / ndf 
2χ  397.2 / 25

p0        0.0±  3916 

p1        0.00019± -0.00195 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,10) / ndf 
2χ  526.1 / 25

p0        0.0±  3914 

p1        0.000182± -0.002017 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,10)

TP delay [ns]
0 20 40 60 80 100

3925

TVC (Mean) vs TP delay (c,b,ch)=(4,3,11) / ndf 
2χ  433.4 / 25

p0        0.0±  3925 

p1        0.000184± -0.002251 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,11)

TP delay [ns]
0 20 40 60 80 100

3933

TVC (Mean) vs TP delay (c,b,ch)=(4,3,12) / ndf 
2χ    489 / 25

p0        0.0±  3933 

p1        0.000193± -0.001808 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,12)

TP delay [ns]
0 20 40 60 80 100

3927

TVC (Mean) vs TP delay (c,b,ch)=(4,3,13) / ndf 
2χ  495.9 / 25

p0        0.0±  3927 

p1        0.000163± -0.001777 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,13)

TP delay [ns]
0 20 40 60 80 100

3928

TVC (Mean) vs TP delay (c,b,ch)=(4,3,14) / ndf 
2χ  393.1 / 25

p0        0.0±  3928 

p1        0.000207± -0.001856 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,14)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,3,15) / ndf 
2χ  390.5 / 25

p0        0.0±  3931 

p1        0.000178± -0.001211 

TVC (Mean) vs TP delay (c,b,ch)=(4,3,15)



TP delay [ns]
0 20 40 60 80 100

3917

TVC (Mean) vs TP delay (c,b,ch)=(4,4,0) / ndf 
2χ  537.8 / 25

p0        0.0±  3917 

p1        0.000181± -0.001433 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,0)

TP delay [ns]
0 20 40 60 80 100

3913

3914

3915

TVC (Mean) vs TP delay (c,b,ch)=(4,4,1)
 / ndf 2χ  451.2 / 25

p0        0.0±  3915 

p1        0.000204± -0.001605 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,1)

TP delay [ns]
0 20 40 60 80 100

3929

TVC (Mean) vs TP delay (c,b,ch)=(4,4,2) / ndf 
2χ  499.1 / 25

p0        0.0±  3929 

p1        0.000179± -0.001301 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,2)

TP delay [ns]
0 20 40 60 80 100

3923

TVC (Mean) vs TP delay (c,b,ch)=(4,4,3) / ndf 
2χ  417.1 / 25

p0        0.0±  3923 

p1        0.000189± -0.001549 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,4) / ndf 
2χ  515.5 / 25

p0        0.0±  3925 

p1        0.00019± -0.00135 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,4)

TP delay [ns]
0 20 40 60 80 100

3925

3926

3927

3928

3929

3930

TVC (Mean) vs TP delay (c,b,ch)=(4,4,5) / ndf 
2χ  444.5 / 25

p0        0.0±  3930 

p1        0.000191± -0.001893 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,5)

TP delay [ns]
0 20 40 60 80 100

3919

3920

3921

3922

3923

3924

3925

3926

TVC (Mean) vs TP delay (c,b,ch)=(4,4,6) / ndf 
2χ  511.2 / 25

p0        0.0±  3926 

p1        0.000193± -0.001656 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,6)

TP delay [ns]
0 20 40 60 80 100

3918

TVC (Mean) vs TP delay (c,b,ch)=(4,4,7) / ndf 
2χ    475 / 25

p0        0.0±  3918 

p1        0.00019± -0.00156 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,7)

TP delay [ns]
0 20 40 60 80 100

3942

TVC (Mean) vs TP delay (c,b,ch)=(4,4,8)
 / ndf 2χ  680.4 / 25

p0        0.0±  3942 

p1        0.000188± -0.001685 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,8)

TP delay [ns]
0 20 40 60 80 100

3941

TVC (Mean) vs TP delay (c,b,ch)=(4,4,9) / ndf 
2χ  614.4 / 25

p0        0.0±  3941 

p1        0.000200± -0.001839 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,9)

TP delay [ns]
0 20 40 60 80 100

3941

TVC (Mean) vs TP delay (c,b,ch)=(4,4,10) / ndf 
2χ  611.4 / 25

p0        0.0±  3941 

p1        0.0002± -0.0011 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,11) / ndf 
2χ  753.8 / 25

p0        0.0±  3935 

p1        0.000180± -0.001879 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,11)

TP delay [ns]
0 20 40 60 80 100

3928

TVC (Mean) vs TP delay (c,b,ch)=(4,4,12)
 / ndf 2χ  477.2 / 25

p0        0.0±  3928 

p1        0.000198± -0.002224 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,12)

TP delay [ns]
0 20 40 60 80 100

3938
TVC (Mean) vs TP delay (c,b,ch)=(4,4,13) / ndf 

2χ  480.5 / 25

p0        0.0±  3938 

p1        0.000186± -0.001912 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,4,14) / ndf 
2χ  485.2 / 25

p0        0.0±  3935 

p1        0.00018± -0.00168 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,14)

TP delay [ns]
0 20 40 60 80 100

3927

TVC (Mean) vs TP delay (c,b,ch)=(4,4,15)
 / ndf 2χ  555.8 / 25

p0        0.0±  3927 

p1        0.000179± -0.001655 

TVC (Mean) vs TP delay (c,b,ch)=(4,4,15)



TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,0) / ndf 
2χ  494.8 / 25

p0        0.0±  3915 

p1        0.000203± -0.002887 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,1)
 / ndf 2χ  667.3 / 25

p0        0.0±  3912 

p1        0.000184± -0.002754 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,2) / ndf 
2χ  758.5 / 25

p0        0.0±  3918 

p1        0.00019± -0.00284 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,2)

TP delay [ns]
0 20 40 60 80 100

3923

TVC (Mean) vs TP delay (c,b,ch)=(4,5,3) / ndf 
2χ  668.6 / 25

p0        0.0±  3923 

p1        0.00018± -0.00275 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,4) / ndf 
2χ  379.9 / 25

p0        0.0±  3911 

p1        0.000197± -0.002263 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,5) / ndf 
2χ    367 / 25

p0        0.0±  3906 

p1        0.000186± -0.002473 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,6) / ndf 
2χ  440.9 / 25

p0        0.0±  3917 

p1        0.000181± -0.002368 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,6)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,7) / ndf 
2χ  432.4 / 25

p0        0.0±  3908 

p1        0.000183± -0.002339 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,7)

TP delay [ns]
0 20 40 60 80 100

3933

3934

3935

3936

3937

3938

TVC (Mean) vs TP delay (c,b,ch)=(4,5,8) / ndf 
2χ  626.4 / 25

p0        0.0±  3938 

p1        0.000200± -0.002337 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,8)

TP delay [ns]
0 20 40 60 80 100

3935

TVC (Mean) vs TP delay (c,b,ch)=(4,5,9) / ndf 
2χ  705.9 / 25

p0        0.0±  3935 

p1        0.000174± -0.002837 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,9)

TP delay [ns]
0 20 40 60 80 100

3937

TVC (Mean) vs TP delay (c,b,ch)=(4,5,10) / ndf 
2χ  641.2 / 25

p0        0.0±  3937 

p1        0.0002± -0.0029 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,10)

TP delay [ns]
0 20 40 60 80 100

3933

TVC (Mean) vs TP delay (c,b,ch)=(4,5,11) / ndf 
2χ  664.1 / 25

p0        0.0±  3933 

p1        0.000195± -0.002817 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,11)

TP delay [ns]
0 20 40 60 80 100

3935

TVC (Mean) vs TP delay (c,b,ch)=(4,5,12)
 / ndf 2χ  469.5 / 25

p0        0.0±  3935 

p1        0.000189± -0.003304 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,12)

TP delay [ns]
0 20 40 60 80 100

3929

3930

3931

3932

3933

3934

3935

TVC (Mean) vs TP delay (c,b,ch)=(4,5,13) / ndf 
2χ  418.2 / 25

p0        0.0±  3935 

p1        0.000190± -0.003486 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,13)

TP delay [ns]
0 20 40 60 80 100

3939

TVC (Mean) vs TP delay (c,b,ch)=(4,5,14) / ndf 
2χ  544.2 / 25

p0        0.0±  3939 

p1        0.000191± -0.003373 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,14)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,5,15) / ndf 
2χ  439.1 / 25

p0        0.0±  3939 

p1        0.000188± -0.003189 

TVC (Mean) vs TP delay (c,b,ch)=(4,5,15)



TP delay [ns]
0 20 40 60 80 100

3920

TVC (Mean) vs TP delay (c,b,ch)=(4,6,0) / ndf 
2χ  683.1 / 25

p0        0.0±  3920 

p1        0.000184± -0.002039 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,1) / ndf 
2χ  662.3 / 25

p0        0.0±  3924 

p1        0.000190± -0.002592 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,1)

TP delay [ns]
0 20 40 60 80 100

3931

TVC (Mean) vs TP delay (c,b,ch)=(4,6,2) / ndf 
2χ  664.3 / 25

p0        0.0±  3931 

p1        0.000186± -0.002967 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,2)

TP delay [ns]
0 20 40 60 80 100

3926

TVC (Mean) vs TP delay (c,b,ch)=(4,6,3) / ndf 
2χ  719.8 / 25

p0        0.0±  3926 

p1        0.000182± -0.003003 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,4) / ndf 
2χ  387.4 / 25

p0        0.0±  3915 

p1        0.000195± -0.002487 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,4)

TP delay [ns]
0 20 40 60 80 100

3913

TVC (Mean) vs TP delay (c,b,ch)=(4,6,5)
 / ndf 2χ  427.5 / 25

p0        0.0±  3913 

p1        0.000175± -0.002854 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,6)
 / ndf 2χ  406.7 / 25

p0        0.0±  3913 

p1        0.000185± -0.002675 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,6)

TP delay [ns]
0 20 40 60 80 100

3912

TVC (Mean) vs TP delay (c,b,ch)=(4,6,7) / ndf 
2χ  550.2 / 25

p0        0.0±  3912 

p1        0.000179± -0.002927 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,7)

TP delay [ns]
0 20 40 60 80 100

3925

TVC (Mean) vs TP delay (c,b,ch)=(4,6,8) / ndf 
2χ  575.7 / 25

p0        0.0±  3925 

p1        0.00018± -0.00328 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,8)

TP delay [ns]
0 20 40 60 80 100

3916

TVC (Mean) vs TP delay (c,b,ch)=(4,6,9) / ndf 
2χ  608.2 / 25

p0        0.0±  3916 

p1        0.000191± -0.003219 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,9)

TP delay [ns]
0 20 40 60 80 100

3915

TVC (Mean) vs TP delay (c,b,ch)=(4,6,10) / ndf 
2χ  629.1 / 25

p0        0.0±  3915 

p1        0.000180± -0.003446 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,11) / ndf 
2χ  564.7 / 25

p0        0.0±  3923 

p1        0.00018± -0.00372 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,6,12) / ndf 
2χ  763.5 / 25

p0        0.0±  3929 

p1        0.000192± -0.003913 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,12)

TP delay [ns]
0 20 40 60 80 100

3928

TVC (Mean) vs TP delay (c,b,ch)=(4,6,13) / ndf 
2χ  760.9 / 25

p0        0.0±  3928 

p1        0.000219± -0.004023 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,13)

TP delay [ns]
0 20 40 60 80 100

3917

TVC (Mean) vs TP delay (c,b,ch)=(4,6,14) / ndf 
2χ  727.5 / 25

p0        0.0±  3917 

p1        0.000175± -0.003087 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,14)

TP delay [ns]
0 20 40 60 80 100

3925

TVC (Mean) vs TP delay (c,b,ch)=(4,6,15) / ndf 
2χ  711.8 / 25

p0        0.0±  3925 

p1        0.000171± -0.003053 

TVC (Mean) vs TP delay (c,b,ch)=(4,6,15)



TP delay [ns]
0 20 40 60 80 100

3942

TVC (Mean) vs TP delay (c,b,ch)=(4,7,0) / ndf 
2χ  484.9 / 25

p0        0.0±  3942 

p1        0.000205± -0.003267 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,1) / ndf 
2χ  621.3 / 25

p0        0.0±  3943 

p1        0.000182± -0.002718 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,2) / ndf 
2χ  572.8 / 25

p0        0.0±  3939 

p1        0.000184± -0.002656 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,2)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,3)
 / ndf 2χ    632 / 25

p0        0.0±  3942 

p1        0.000193± -0.003685 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,3)

TP delay [ns]
0 20 40 60 80 100

3928

TVC (Mean) vs TP delay (c,b,ch)=(4,7,4) / ndf 
2χ  699.7 / 25

p0        0.0±  3928 

p1        0.000195± -0.003077 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,4)

TP delay [ns]
0 20 40 60 80 100

3927

TVC (Mean) vs TP delay (c,b,ch)=(4,7,5) / ndf 
2χ  703.8 / 25

p0        0.0±  3927 

p1        0.000197± -0.003077 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,6) / ndf 
2χ    762 / 25

p0        0.0±  3931 

p1        0.00019± -0.00336 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,6)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,7) / ndf 
2χ  688.9 / 25

p0        0.0±  3942 

p1        0.00019± -0.00355 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,7)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,8) / ndf 
2χ  789.3 / 25

p0        0.0±  3934 

p1        0.000186± -0.003086 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,8)

TP delay [ns]
0 20 40 60 80 100

3930
TVC (Mean) vs TP delay (c,b,ch)=(4,7,9) / ndf 

2χ  787.3 / 25

p0        0.0±  3930 

p1        0.000183± -0.003497 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,10)
 / ndf 2χ  900.1 / 25

p0        0.0±  3926 

p1        0.000175± -0.002934 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,10)

TP delay [ns]
0 20 40 60 80 100

3925

TVC (Mean) vs TP delay (c,b,ch)=(4,7,11) / ndf 
2χ  881.4 / 25

p0        0.0±  3925 

p1        0.000178± -0.003529 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,12) / ndf 
2χ  504.4 / 25

p0        0.0±  3952 

p1        0.000203± -0.002857 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,12)

TP delay [ns]
0 20 40 60 80 100

3954

TVC (Mean) vs TP delay (c,b,ch)=(4,7,13)
 / ndf 2χ  568.1 / 25

p0        0.0±  3954 

p1        0.000188± -0.002935 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,13)

TP delay [ns]
0 20 40 60 80 100

3952

TVC (Mean) vs TP delay (c,b,ch)=(4,7,14)
 / ndf 2χ  562.8 / 25

p0        0.0±  3952 

p1        0.000209± -0.002674 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,14)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,7,15) / ndf 
2χ  581.1 / 25

p0        0.0±  3958 

p1        0.000189± -0.003348 

TVC (Mean) vs TP delay (c,b,ch)=(4,7,15)



TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,0) / ndf 
2χ  594.4 / 25

p0        0.0±  3914 

p1        0.000184± -0.002132 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,0)

TP delay [ns]
0 20 40 60 80 100

3912

TVC (Mean) vs TP delay (c,b,ch)=(4,8,1) / ndf 
2χ  630.7 / 25

p0        0.0±  3912 

p1        0.000182± -0.001769 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,1)

TP delay [ns]
0 20 40 60 80 100

3922

TVC (Mean) vs TP delay (c,b,ch)=(4,8,2) / ndf 
2χ  809.2 / 25

p0        0.0±  3922 

p1        0.000183± -0.002119 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,2)

TP delay [ns]
0 20 40 60 80 100

3912

3913

3914

3915

3916

3917

TVC (Mean) vs TP delay (c,b,ch)=(4,8,3) / ndf 
2χ  532.1 / 25

p0        0.0±  3917 

p1        0.000181± -0.001992 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,3)

TP delay [ns]
0 20 40 60 80 100

3915

TVC (Mean) vs TP delay (c,b,ch)=(4,8,4) / ndf 
2χ  685.7 / 25

p0        0.0±  3915 

p1        0.000186± -0.003099 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,4)

TP delay [ns]
0 20 40 60 80 100

3908

TVC (Mean) vs TP delay (c,b,ch)=(4,8,5) / ndf 
2χ    986 / 25

p0        0.0±  3908 

p1        0.000176± -0.003031 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,5)

TP delay [ns]
0 20 40 60 80 100

3910

TVC (Mean) vs TP delay (c,b,ch)=(4,8,6) / ndf 
2χ    830 / 25

p0        0.0±  3910 

p1        0.000186± -0.003423 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,6)

TP delay [ns]
0 20 40 60 80 100

3911

TVC (Mean) vs TP delay (c,b,ch)=(4,8,7) / ndf 
2χ  936.7 / 25

p0        0.0±  3911 

p1        0.000187± -0.003733 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,7)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,8) / ndf 
2χ  530.3 / 25

p0        0.0±  3910 

p1        0.000177± -0.002419 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,8)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,9) / ndf 
2χ  467.5 / 25

p0        0.0±  3909 

p1        0.00017± -0.00191 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,9)

TP delay [ns]
0 20 40 60 80 100

3911

TVC (Mean) vs TP delay (c,b,ch)=(4,8,10) / ndf 
2χ  614.7 / 25

p0        0.0±  3911 

p1        0.00017± -0.00233 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,11) / ndf 
2χ    651 / 25

p0        0.0±  3915 

p1        0.000180± -0.002429 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,11)

TP delay [ns]
0 20 40 60 80 100

3897

TVC (Mean) vs TP delay (c,b,ch)=(4,8,12) / ndf 
2χ  607.9 / 25

p0        0.0±  3897 

p1        0.000184± -0.003366 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,13) / ndf 
2χ    772 / 25

p0        0.0±  3901 

p1        0.000181± -0.003696 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,8,14)
 / ndf 2χ  653.9 / 25

p0        0.0±  3903 

p1        0.000177± -0.002924 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,14)

TP delay [ns]
0 20 40 60 80 100

3903

3904

3905

3906

3907

3908

3909

TVC (Mean) vs TP delay (c,b,ch)=(4,8,15) / ndf 
2χ  560.4 / 25

p0        0.0±  3909 

p1        0.000183± -0.002931 

TVC (Mean) vs TP delay (c,b,ch)=(4,8,15)



TP delay [ns]
0 20 40 60 80 100

3950

3951

3952

3953

TVC (Mean) vs TP delay (c,b,ch)=(4,9,0) / ndf 
2χ  501.9 / 25

p0        0.0±  3954 

p1        0.000189± -0.003179 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,1) / ndf 
2χ  639.6 / 25

p0        0.0±  3946 

p1        0.000203± -0.003781 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,1)

TP delay [ns]
0 20 40 60 80 100

3948

TVC (Mean) vs TP delay (c,b,ch)=(4,9,2) / ndf 
2χ  536.4 / 25

p0        0.0±  3948 

p1        0.000188± -0.002692 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,2)

TP delay [ns]
0 20 40 60 80 100

3951

3952

3953

3954

3955

TVC (Mean) vs TP delay (c,b,ch)=(4,9,3) / ndf 
2χ  479.1 / 25

p0        0.0±  3955 

p1        0.000201± -0.003409 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,4) / ndf 
2χ  502.1 / 25

p0        0.0±  3928 

p1        0.000189± -0.002771 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,4)

TP delay [ns]
0 20 40 60 80 100

3935

3936

3937

3938

TVC (Mean) vs TP delay (c,b,ch)=(4,9,5) / ndf 
2χ  668.6 / 25

p0        0.0±  3938 

p1        0.000209± -0.003579 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,5)

TP delay [ns]
0 20 40 60 80 100

3942

TVC (Mean) vs TP delay (c,b,ch)=(4,9,6) / ndf 
2χ  640.5 / 25

p0        0.0±  3942 

p1        0.00019± -0.00274 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,6)

TP delay [ns]
0 20 40 60 80 100

3940

TVC (Mean) vs TP delay (c,b,ch)=(4,9,7) / ndf 
2χ  740.8 / 25

p0        0.0±  3940 

p1        0.000196± -0.003556 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,7)

TP delay [ns]
0 20 40 60 80 100

3928

3929

3930

3931

3932

TVC (Mean) vs TP delay (c,b,ch)=(4,9,8)
 / ndf 2χ  332.1 / 25

p0        0.0±  3932 

p1        0.000195± -0.002524 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,8)

TP delay [ns]
0 20 40 60 80 100

3935

TVC (Mean) vs TP delay (c,b,ch)=(4,9,9) / ndf 
2χ  511.1 / 25

p0        0.0±  3935 

p1        0.000181± -0.002457 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,9)

TP delay [ns]
0 20 40 60 80 100

3936

TVC (Mean) vs TP delay (c,b,ch)=(4,9,10) / ndf 
2χ  696.4 / 25

p0        0.0±  3936 

p1        0.000177± -0.002722 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,11) / ndf 
2χ  474.8 / 25

p0        0.0±  3933 

p1        0.000184± -0.002387 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,11)

TP delay [ns]
0 20 40 60 80 100

3934

TVC (Mean) vs TP delay (c,b,ch)=(4,9,12) / ndf 
2χ  872.5 / 25

p0        0.0±  3934 

p1        0.0002± -0.0035 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,9,13) / ndf 
2χ  787.6 / 25

p0        0.0±  3933 

p1        0.000189± -0.004221 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,13)

TP delay [ns]
0 20 40 60 80 100

3928

TVC (Mean) vs TP delay (c,b,ch)=(4,9,14) / ndf 
2χ  948.5 / 25

p0        0.0±  3928 

p1        0.000184± -0.004242 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,14)

TP delay [ns]
0 20 40 60 80 100

3931

3932

3933

3934

3935

3936

3937
TVC (Mean) vs TP delay (c,b,ch)=(4,9,15) / ndf 

2χ  807.8 / 25

p0        0.0±  3937 

p1        0.000192± -0.003928 

TVC (Mean) vs TP delay (c,b,ch)=(4,9,15)



TP delay [ns]
0 20 40 60 80 100

3900

TVC (Mean) vs TP delay (c,b,ch)=(4,10,0) / ndf 
2χ  777.5 / 25

p0        0.0±  3900 

p1        0.000188± -0.003291 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,0)

TP delay [ns]
0 20 40 60 80 100

3916

TVC (Mean) vs TP delay (c,b,ch)=(4,10,1) / ndf 
2χ  995.2 / 25

p0        0.0±  3916 

p1        0.000184± -0.003561 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,1)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,2) / ndf 
2χ    960 / 25

p0        0.0±  3906 

p1        0.000171± -0.003237 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,2)

TP delay [ns]
0 20 40 60 80 100

3911

TVC (Mean) vs TP delay (c,b,ch)=(4,10,3) / ndf 
2χ  951.4 / 25

p0        0.0±  3911 

p1        0.00018± -0.00294 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,4) / ndf 
2χ  923.8 / 25

p0        0.0±  3928 

p1        0.000193± -0.003109 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,5) / ndf 
2χ   1135 / 25

p0        0.0±  3926 

p1        0.000174± -0.003617 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,5)

TP delay [ns]
0 20 40 60 80 100

3931

TVC (Mean) vs TP delay (c,b,ch)=(4,10,6) / ndf 
2χ  988.8 / 25

p0        0.0±  3931 

p1        0.000179± -0.003732 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,6)

TP delay [ns]
0 20 40 60 80 100

3932

TVC (Mean) vs TP delay (c,b,ch)=(4,10,7)
 / ndf 2χ   1087 / 25

p0        0.0±  3932 

p1        0.000178± -0.003795 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,7)

TP delay [ns]
0 20 40 60 80 100

3916

TVC (Mean) vs TP delay (c,b,ch)=(4,10,8)
 / ndf 2χ  850.9 / 25

p0        0.0±  3916 

p1        0.000182± -0.003714 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,8)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,9) / ndf 
2χ  881.7 / 25

p0        0.0±  3918 

p1        0.000179± -0.003837 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,9)

TP delay [ns]
0 20 40 60 80 100

3916

TVC (Mean) vs TP delay (c,b,ch)=(4,10,10) / ndf 
2χ  770.2 / 25

p0        0.0±  3916 

p1        0.000189± -0.003729 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,10)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,11)
 / ndf 2χ  916.1 / 25

p0        0.0±  3921 

p1        0.000187± -0.003584 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,11)

TP delay [ns]
0 20 40 60 80 100

3923

3924

TVC (Mean) vs TP delay (c,b,ch)=(4,10,12) / ndf 
2χ  805.4 / 25

p0        0.0±  3924 

p1        0.000191± -0.003644 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,13) / ndf 
2χ  817.5 / 25

p0        0.0±  3938 

p1        0.000185± -0.003643 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,13)

TP delay [ns]
0 20 40 60 80 100

3937

TVC (Mean) vs TP delay (c,b,ch)=(4,10,14) / ndf 
2χ    872 / 25

p0        0.0±  3937 

p1        0.000179± -0.003586 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,14)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,10,15) / ndf 
2χ  859.6 / 25

p0        0.0±  3926 

p1        0.000191± -0.004004 

TVC (Mean) vs TP delay (c,b,ch)=(4,10,15)



TP delay [ns]
0 20 40 60 80 100

3924

TVC (Mean) vs TP delay (c,b,ch)=(4,11,0) / ndf 
2χ  479.2 / 25

p0        0.0±  3924 

p1        0.000186± -0.002576 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,0)

TP delay [ns]
0 20 40 60 80 100

3932

TVC (Mean) vs TP delay (c,b,ch)=(4,11,1) / ndf 
2χ  425.8 / 25

p0        0.0±  3932 

p1        0.000191± -0.003027 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,1)

TP delay [ns]
0 20 40 60 80 100

3930

TVC (Mean) vs TP delay (c,b,ch)=(4,11,2) / ndf 
2χ  475.3 / 25

p0        0.0±  3930 

p1        0.00018± -0.00342 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,2)

TP delay [ns]
0 20 40 60 80 100

3926

TVC (Mean) vs TP delay (c,b,ch)=(4,11,3) / ndf 
2χ  405.4 / 25

p0        0.0±  3926 

p1        0.000193± -0.002962 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,3)

TP delay [ns]
0 20 40 60 80 100

3952

TVC (Mean) vs TP delay (c,b,ch)=(4,11,4) / ndf 
2χ  642.8 / 25

p0        0.0±  3953 

p1        0.000201± -0.003028 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,4)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,5) / ndf 
2χ  555.9 / 25

p0        0.0±  3945 

p1        0.000195± -0.003626 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,6) / ndf 
2χ  603.7 / 25

p0        0.0±  3952 

p1        0.000179± -0.002748 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,6)

TP delay [ns]
0 20 40 60 80 100

3950

TVC (Mean) vs TP delay (c,b,ch)=(4,11,7) / ndf 
2χ  590.2 / 25

p0        0.0±  3950 

p1        0.000176± -0.003069 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,7)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,8) / ndf 
2χ  627.9 / 25

p0        0.0±  3927 

p1        0.000179± -0.003371 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,8)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,9) / ndf 
2χ  634.4 / 25

p0        0.0±  3932 

p1        0.000181± -0.003036 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,10) / ndf 
2χ  635.1 / 25

p0        0.0±  3933 

p1        0.000190± -0.002613 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,10)

TP delay [ns]
0 20 40 60 80 100

3927

TVC (Mean) vs TP delay (c,b,ch)=(4,11,11)
 / ndf 2χ  505.8 / 25

p0        0.0±  3927 

p1        0.000190± -0.003075 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,11)

TP delay [ns]
0 20 40 60 80 100

3933

TVC (Mean) vs TP delay (c,b,ch)=(4,11,12) / ndf 
2χ  461.3 / 25

p0        0.0±  3933 

p1        0.000193± -0.003477 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,11,13) / ndf 
2χ  528.3 / 25

p0        0.0±  3927 

p1        0.000186± -0.003369 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,13)

TP delay [ns]
0 20 40 60 80 100

3929

TVC (Mean) vs TP delay (c,b,ch)=(4,11,14) / ndf 
2χ  645.9 / 25

p0        0.0±  3929 

p1        0.000184± -0.003502 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,14)

TP delay [ns]
0 20 40 60 80 100

3931

TVC (Mean) vs TP delay (c,b,ch)=(4,11,15) / ndf 
2χ  588.2 / 25

p0        0.0±  3931 

p1        0.000178± -0.002772 

TVC (Mean) vs TP delay (c,b,ch)=(4,11,15)



TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,12,0) / ndf 
2χ  563.4 / 25

p0        0.0±  3930 

p1        0.000198± -0.002959 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,0)

TP delay [ns]
0 20 40 60 80 100
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3941

3942

3943

TVC (Mean) vs TP delay (c,b,ch)=(4,12,1) / ndf 
2χ  461.4 / 25

p0        0.0±  3943 

p1        0.000193± -0.003626 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,1)

TP delay [ns]
0 20 40 60 80 100

3937

TVC (Mean) vs TP delay (c,b,ch)=(4,12,2) / ndf 
2χ  525.5 / 25

p0        0.0±  3937 

p1        0.000196± -0.003292 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,2)

TP delay [ns]
0 20 40 60 80 100

3933

TVC (Mean) vs TP delay (c,b,ch)=(4,12,3)
 / ndf 2χ  822.2 / 25

p0        0.0±  3933 

p1        0.000175± -0.003065 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,12,4)
 / ndf 2χ  590.7 / 25

p0        0.0±  3920 

p1        0.000192± -0.002195 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,4)

TP delay [ns]
0 20 40 60 80 100

3919

3920

TVC (Mean) vs TP delay (c,b,ch)=(4,12,5) / ndf 
2χ  590.9 / 25

p0        0.0±  3921 

p1        0.000195± -0.002936 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,5)

TP delay [ns]
0 20 40 60 80 100
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3917

TVC (Mean) vs TP delay (c,b,ch)=(4,12,6) / ndf 
2χ  495.3 / 25

p0        0.0±  3917 

p1        0.000179± -0.003021 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,6)

TP delay [ns]
0 20 40 60 80 100
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3921

3922

TVC (Mean) vs TP delay (c,b,ch)=(4,12,7) / ndf 
2χ  587.5 / 25

p0        0.0±  3922 

p1        0.000194± -0.002481 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,7)

TP delay [ns]
0 20 40 60 80 100

3911

TVC (Mean) vs TP delay (c,b,ch)=(4,12,8) / ndf 
2χ  296.3 / 25

p0        0.0±  3911 

p1        0.000211± -0.002528 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,8)

TP delay [ns]
0 20 40 60 80 100
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3910

TVC (Mean) vs TP delay (c,b,ch)=(4,12,9) / ndf 
2χ  288.6 / 25

p0        0.0±  3910 

p1        0.000216± -0.003631 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,9)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,12,10) / ndf 
2χ  545.9 / 25

p0        0.0±  3913 

p1        0.00018± -0.00271 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,10)

TP delay [ns]
0 20 40 60 80 100

3911

TVC (Mean) vs TP delay (c,b,ch)=(4,12,11) / ndf 
2χ  429.8 / 25

p0        0.0±  3911 

p1        0.000201± -0.003086 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,11)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,12,12) / ndf 
2χ  549.9 / 25

p0        0.0±  3904 

p1        0.000200± -0.002706 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,12)

TP delay [ns]
0 20 40 60 80 100

3894

3895

3896

TVC (Mean) vs TP delay (c,b,ch)=(4,12,13) / ndf 
2χ  513.7 / 25

p0        0.0±  3896 

p1        0.000200± -0.002957 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,12,14)
 / ndf 2χ  420.2 / 25

p0        0.0±  3897 

p1        0.000182± -0.002614 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,14)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,12,15) / ndf 
2χ  440.8 / 25

p0        0.0±  3897 

p1        0.000189± -0.002592 

TVC (Mean) vs TP delay (c,b,ch)=(4,12,15)



TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,13,0) / ndf 
2χ  813.2 / 25

p0        0.0±  4029 

p1        0.000183± -0.003449 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,13,1) / ndf 
2χ    852 / 25

p0        0.0±  4019 

p1        0.000185± -0.002941 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,1)

TP delay [ns]
0 20 40 60 80 100

4023

TVC (Mean) vs TP delay (c,b,ch)=(4,13,2)
 / ndf 2χ  835.4 / 25

p0        0.0±  4023 

p1        0.000187± -0.003335 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,2)

TP delay [ns]
0 20 40 60 80 100

4030

TVC (Mean) vs TP delay (c,b,ch)=(4,13,3) / ndf 
2χ  809.3 / 25

p0        0.0±  4030 

p1        0.00019± -0.00313 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,3)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,13,4) / ndf 
2χ   1392 / 25

p0        0.0±  3959 

p1        0.000177± -0.003399 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,4)

TP delay [ns]
0 20 40 60 80 100

3952

TVC (Mean) vs TP delay (c,b,ch)=(4,13,5) / ndf 
2χ   1522 / 25

p0        0.0±  3952 

p1        0.000172± -0.002921 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,5)

TP delay [ns]
0 20 40 60 80 100

3961

TVC (Mean) vs TP delay (c,b,ch)=(4,13,6) / ndf 
2χ   1415 / 25

p0        0.0±  3961 

p1        0.00019± -0.00285 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,6)

TP delay [ns]
0 20 40 60 80 100
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,7) / ndf 
2χ   1553 / 25

p0        0.0±  3960 

p1        0.000183± -0.003768 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,7)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,13,8) / ndf 
2χ  590.9 / 25

p0        0.0±  4013 

p1        0.000191± -0.002853 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,8)

TP delay [ns]
0 20 40 60 80 100

4018

TVC (Mean) vs TP delay (c,b,ch)=(4,13,9) / ndf 
2χ  537.1 / 25

p0        0.0±  4018 

p1        0.00017± -0.00268 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,9)

TP delay [ns]
0 20 40 60 80 100

4019

TVC (Mean) vs TP delay (c,b,ch)=(4,13,10) / ndf 
2χ    711 / 25

p0        0.0±  4019 

p1        0.000174± -0.002607 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,10)

TP delay [ns]
0 20 40 60 80 100

4004

4005

4006

4007

4008

4009

4010

4011

4012

TVC (Mean) vs TP delay (c,b,ch)=(4,13,11)
 / ndf 2χ  359.3 / 25

p0        0.0±  4012 

p1        0.000234± -0.002955 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,11)

TP delay [ns]
0 20 40 60 80 100

3957

TVC (Mean) vs TP delay (c,b,ch)=(4,13,12) / ndf 
2χ  949.6 / 25

p0        0.0±  3957 

p1        0.000182± -0.003072 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,13,13) / ndf 
2χ  928.2 / 25

p0        0.0±  3955 

p1        0.000180± -0.002457 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,13)

TP delay [ns]
0 20 40 60 80 100
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3958

3959

TVC (Mean) vs TP delay (c,b,ch)=(4,13,14) / ndf 
2χ  991.4 / 25

p0        0.0±  3959 

p1        0.000178± -0.003558 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,14)

TP delay [ns]
0 20 40 60 80 100
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TVC (Mean) vs TP delay (c,b,ch)=(4,13,15) / ndf 
2χ  854.2 / 25

p0        0.0±  3959 

p1        0.000167± -0.002937 

TVC (Mean) vs TP delay (c,b,ch)=(4,13,15)



TP delay [ns]
0 20 40 60 80 100

3972

TVC (Mean) vs TP delay (c,b,ch)=(4,14,0) / ndf 
2χ  552.8 / 25

p0        0.0±  3972 

p1        0.000189± -0.003012 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,0)

TP delay [ns]
0 20 40 60 80 100

3974

TVC (Mean) vs TP delay (c,b,ch)=(4,14,1) / ndf 
2χ  483.2 / 25

p0        0.0±  3974 

p1        0.00020± -0.00293 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,1)

TP delay [ns]
0 20 40 60 80 100

3975

3976

TVC (Mean) vs TP delay (c,b,ch)=(4,14,2) / ndf 
2χ  516.1 / 25

p0        0.0±  3976 

p1        0.000195± -0.002719 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,2)

TP delay [ns]
0 20 40 60 80 100
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3969

3970

3971
TVC (Mean) vs TP delay (c,b,ch)=(4,14,3) / ndf 

2χ  452.7 / 25

p0        0.0±  3971 

p1        0.000192± -0.003598 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,3)

TP delay [ns]
0 20 40 60 80 100

3965

TVC (Mean) vs TP delay (c,b,ch)=(4,14,4) / ndf 
2χ    585 / 25

p0        0.0±  3965 

p1        0.000194± -0.001947 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,4)

TP delay [ns]
0 20 40 60 80 100

3967

TVC (Mean) vs TP delay (c,b,ch)=(4,14,5) / ndf 
2χ  683.5 / 25

p0        0.0±  3967 

p1        0.000171± -0.002073 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,5)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,14,6) / ndf 
2χ  602.8 / 25

p0        0.0±  3964 

p1        0.000193± -0.002256 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,6)

TP delay [ns]
0 20 40 60 80 100

3976

TVC (Mean) vs TP delay (c,b,ch)=(4,14,7)
 / ndf 2χ  761.9 / 25

p0        0.0±  3976 

p1        0.000196± -0.002295 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,7)

TP delay [ns]
0 20 40 60 80 100

3919

TVC (Mean) vs TP delay (c,b,ch)=(4,14,8) / ndf 
2χ  786.7 / 25

p0        0.0±  3919 

p1        0.000180± -0.002273 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,8)

TP delay [ns]
0 20 40 60 80 100

3929

TVC (Mean) vs TP delay (c,b,ch)=(4,14,9)
 / ndf 2χ  799.3 / 25

p0        0.0±  3929 

p1        0.000180± -0.002125 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,9)

TP delay [ns]
0 20 40 60 80 100

3923

TVC (Mean) vs TP delay (c,b,ch)=(4,14,10)
 / ndf 2χ  600.9 / 25

p0        0.0±  3923 

p1        0.000197± -0.002314 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,10)

TP delay [ns]
0 20 40 60 80 100
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3922

TVC (Mean) vs TP delay (c,b,ch)=(4,14,11) / ndf 
2χ  717.4 / 25

p0        0.0±  3922 

p1        0.000189± -0.002411 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,11)

TP delay [ns]
0 20 40 60 80 100

3965

TVC (Mean) vs TP delay (c,b,ch)=(4,14,12)
 / ndf 2χ  768.7 / 25

p0        0.0±  3965 

p1        0.000183± -0.001995 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,12)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,14,13) / ndf 
2χ  692.4 / 25

p0        0.0±  3965 

p1        0.000182± -0.002161 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,13)

TP delay [ns]
0 20 40 60 80 100

3955

3956

TVC (Mean) vs TP delay (c,b,ch)=(4,14,14)
 / ndf 2χ  643.4 / 25

p0        0.0±  3956 

p1        0.000195± -0.002604 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,14)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,14,15) / ndf 
2χ    537 / 25

p0        0.0±  3955 

p1        0.000181± -0.001799 

TVC (Mean) vs TP delay (c,b,ch)=(4,14,15)



TP delay [ns]
0 20 40 60 80 100

3937

TVC (Mean) vs TP delay (c,b,ch)=(4,15,0) / ndf 
2χ  928.2 / 25

p0        0.0±  3937 

p1        0.00020± -0.00307 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,0)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,15,1) / ndf 
2χ  923.1 / 25

p0        0.0±  3929 

p1        0.000182± -0.002978 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,1)

TP delay [ns]
0 20 40 60 80 100

3935

TVC (Mean) vs TP delay (c,b,ch)=(4,15,2) / ndf 
2χ   1069 / 25

p0        0.0±  3935 

p1        0.000176± -0.002932 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,2)

TP delay [ns]
0 20 40 60 80 100

3936

3937

TVC (Mean) vs TP delay (c,b,ch)=(4,15,3) / ndf 
2χ   1023 / 25

p0        0.0±  3937 

p1        0.000183± -0.003176 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,3)

TP delay [ns]
0 20 40 60 80 100
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,4)
 / ndf 2χ  528.5 / 25

p0        0.0±  3928 

p1        0.000214± -0.002324 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,4)

TP delay [ns]
0 20 40 60 80 100
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3927

TVC (Mean) vs TP delay (c,b,ch)=(4,15,5) / ndf 
2χ  691.1 / 25

p0        0.0±  3927 

p1        0.000184± -0.002566 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,5)

TP delay [ns]
0 20 40 60 80 100

3928

TVC (Mean) vs TP delay (c,b,ch)=(4,15,6) / ndf 
2χ  618.6 / 25

p0        0.0±  3928 

p1        0.000187± -0.002987 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,6)

TP delay [ns]
0 20 40 60 80 100
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3923

3924

TVC (Mean) vs TP delay (c,b,ch)=(4,15,7) / ndf 
2χ  628.7 / 25

p0        0.0±  3924 

p1        0.000193± -0.002797 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,7)

TP delay [ns]
0 20 40 60 80 100
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3923

3924

3925

3926

TVC (Mean) vs TP delay (c,b,ch)=(4,15,8) / ndf 
2χ  809.3 / 25

p0        0.0±  3926 

p1        0.000189± -0.002437 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,8)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,15,9) / ndf 
2χ  732.3 / 25

p0        0.0±  3919 

p1        0.00019± -0.00268 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,9)

TP delay [ns]
0 20 40 60 80 100

3918

TVC (Mean) vs TP delay (c,b,ch)=(4,15,10)
 / ndf 2χ  672.9 / 25

p0        0.0±  3918 

p1        0.000200± -0.003075 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,10)

TP delay [ns]
0 20 40 60 80 100

3927

TVC (Mean) vs TP delay (c,b,ch)=(4,15,11)
 / ndf 2χ  841.7 / 25

p0        0.0±  3927 

p1        0.000173± -0.003064 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,11)

TP delay [ns]
0 20 40 60 80 100

3931

TVC (Mean) vs TP delay (c,b,ch)=(4,15,12) / ndf 
2χ    821 / 25

p0        0.0±  3931 

p1        0.000176± -0.002953 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,12)

TP delay [ns]
0 20 40 60 80 100

3926

TVC (Mean) vs TP delay (c,b,ch)=(4,15,13) / ndf 
2χ  726.2 / 25

p0        0.0±  3926 

p1        0.000173± -0.003272 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,13)

TP delay [ns]
0 20 40 60 80 100

TVC (Mean) vs TP delay (c,b,ch)=(4,15,14) / ndf 
2χ  565.8 / 25

p0        0.0±  3923 

p1        0.000181± -0.002937 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,14)

TP delay [ns]
0 20 40 60 80 100
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TVC (Mean) vs TP delay (c,b,ch)=(4,15,15)
 / ndf 2χ  757.9 / 25

p0        0.0±  3926 

p1        0.000177± -0.002914 

TVC (Mean) vs TP delay (c,b,ch)=(4,15,15)
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